H & 0l & AHS B Ml A

An HASAE wEoENE
el o|ZZOIAY NAA PE(A220i012) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fe=X 1,550,446 1,791,170 N240,724
= 156,926
== 31,99
Al 1,361,521
NasSE HEt83X 1,550,446 1,791,170 A240,724
= 156,926
< 31,999
Al 1,361,521
IRSHAE XIFHM 2=(dE2s80IIS) 1,550,446 1,791,170 A240,724
= 156,926
== 31,999
Al 1,361,521
Slgzg0 A& 212,959 238,916 N25,957
= 156,926
= 31,999
Al 24,034
201 fer= 3| 16,637 16,637 0
= 13,310
= 3,327
01 Al 22IH| 16,217 16,217 0
OoI220IMY £7 NSBE U 222 A
IS 15,417,000& 15,417
2 2,3%
< 3,083
Ool230a9IRE, JIEElY 2% U &
SH=g 800,000 800
= 640
= 160
2 S22l 420 420 0
O22x50iAtdi2el gf =2 JFUE
23 420,000 420
= 336
== 84
202 04dl 1,782 14,400 AN2,618
= 9,425
= 2,357
01 2LHA LI 1,782 14,400 AN2,618
OUZsHAIE &2 =& 64
4,982,000 4,982
= 3,985
= 997
Oczs0Atd2el g8 =& HHI(32A)
6.,800,000& 6,800
= 5,440




FA F2US
HY: HYASEO MBI
el o|ZZOIAY NAA PE(A220i012) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,360
307 21201 & 167,740 191,379 A\23,639
= 134,191
= 26,315
Al 7,234
01 22X &l 167,740 191,379 A\23,639
OoIZ20ILAT HIXIZ2 ¥ 2oy &
=2 144,432,000 144,432
= 115,545
= 23,109
Al 5,778
OF0AZ2010] FHl K&
23,308,000& 23,308
= 18,646
= 3,206
Al 1,456
802 grat=JIE 16,800 16,500 300
03 DIEtEtE =S 16,800 16,500 300
02ROl JIEt B4 183
16,800,000 16,800
A== RE= 1,337,487 1,465,386 127,89
308 AHXIEMSOIH 1,337,487 1,465,386 127,89
07 HXHHLREE2 1,337,487 1,465,386 A127,89
Oflzsdiiai 22=0 dx8] XI& Al
BIfE=2 1,334,019,000& 1,334,019
OAZdEF Xl AlHIFE=
3,381,000& 3,381
OIBMXZH| S AMHIRES
87,0003 87




